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S AR § A I 1 SR YW & AW | 1. Which of the following basins is known
|

as Godwar Region ?

B ST AT R ?
) 3R (1) Chambal Basin
(2) Middle Mahi Basin
(2) e aTE S
2) e _ (3) Luni Basin
3 F‘Fﬁ (4) Sambhar Basin
(4) arReRE
ﬁﬁ%ﬁﬁﬁ@%ﬁ@m 2.  Match the following :
T8 T T ! River Tributory
' ' A. Luni i.  Sarni
A. i. i
o ) B. Mahi i Mansi
B. el i, T C. Banas iii. Chap
C. s iil. = D. Som iv. Sagi
D. @™ iv. gt - Code :
R : A B C D
E B . D () i i i v
(H i i i v () i i i1 v
@) ii i i v (3) iv i i i
(3) iv il il i 4) i i i iv
4) i i 1 v
Prfafgg § @ o4 @ 78 FE-ari 3.  Which of the following river is the part
TR T TR ? of Arabian sea river system ?
(1) Western Banas
1) dfeedt s=@
M i ! (2) Kalisindh
(2) eh- | @) Chamba
(3) dHsicd | (4) Banas
(4) A9 i
i
i 4 Which of the following pair is wrong ?
Wﬁﬁﬁmw;@%? I (1) Foyasagar Lake — Ajmer
i Dist.
(1) &&ETR e — o fen ! (2) Balsamand Lake - Rajsamand
2) wemEesi - OoEwg e Dist.
. | (3) Sardar Samand - Pali Dist.
() werudede - el fe -; Lake |
(4) 75 ErR I _ Wﬁ?‘" 1 (4) Gabsagar Lake - Dungarpur
: Dist.

2 02
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Pt 1 3 @ e 1 g T 2 7 | 5.

IR /S & Rrem
(1) w=h - Tusieme

(2) deTg AMTYE — TS A

(3) HEET ~ WAR

(4) IR ~- qW

T A TR B A o7 & 1 e

icrera gefara o &= o SFwid AT R 7

(1) @M 38%

(2) T 27%

(3) T 56%

(4) T 33%

Ty & fm=fefaa et o 8 o9 @

RAAH I &3 Wfererd arer faen & 2
(1) SR
(2) s

(3) Shug
(4) SN

SFRTOAT 2011 % e f=fafea & @
TIRH & i 4 e 30% aohi
SEE 9fg WA I W ewid B ?

2 fed ™ el 7 | wdt s g

(A) SteaTet |

(B) J&eR

(C) wTEW

(D) gt

@:

(1) (B)W (D)

2) (€)W (D)

(3) (A)WiI(B)

(4) (B)WH (C)

i

Which  of the following pair is not
correctly matched ?

Sanctuary/ District
Protected Area
(1) Bassi — Chiittorgarh
(2) Sawai Mansingh - Sawai
Madhopur
(3) Kesar Bagh — Bharatpur
(4) Shergarh — Baran

At present, what proportion of total
forest area in Rajasthan falls under
protected forest area category ?

(1) approx. 38%
(2) approx. 27%
(3) approx. 56%
(4) approx. 33%

Which among the following districts of
Rajasthan has the lowest proportion of
forest area ?

~ (1) Jaisalmer

(2) Bikaner
(3) Jodhpur
(4) Barmer

Which of the following districts of
Rajasthan have registered decadal
growth rate of population above 30%,
as per Census 2011 ?

Select the correct answer from the codes
given below :

(A) Banswara
(B) Jaisalmer
(C) Barmer
(D) Jodhpur
Codes :

(1) (B)and (D)
(2) (C)and (D)
(3) (A)and(B)
(4) (B)and (C)



10.

11.

12.

FEE T & gy o frafafga @

TR % Tl o1 9 ST HH $iF
IR ? (2011 < TTUAT ITHEAR)
(1) Y, T, HEAgE T AR
(2) EYL, IHETH, WA T ST
(3) S, WA, <6 T SR
(4) SRIG, AR, IR T a1

frefafea § @ Toem & %9 § 5o
ATIRIST (T[T & W (YTTe) b ST
1o 1 el HIER | iR g 2 =
fet md i § | el IW T

A. SR

m o0

®: _

(1) A,B,CTWD
(2) B,C,DTWE
(3) A,B,DTIE
(4) A,B,C,DTE

Bora %1 deF i | Td g fiffa 2 2
(1) ST

(2) ==

3) gHel

(4) @

o wR fewm 2
(1) STEH

(2) 3TEeA B
(3) YURHI

(4) TR H

B

10.

11.

12.

In term of population density, which one
of the following is the correct
descending order of districts in
Rajasthan ? (According to Census 2011)
(1) Jaipur, Dausa, Bharatpur and
Alwar
(2) Jaipur,
Dausa
(3)
(4)

Alwar, Bharatpur and

Jaipur, Dausa and
Alwar
Jaipur,

Dausa

Bharatpur,

Bharatpur, Alwar and

Which of the following district of
Rajasthan falls on the Green Energy
Corridor running from Banaskantha
(Gujarat) to Moga (Punjab) ?

Select the correct answer from the
codes given below :

A. Jodhpur
B. Ajmer
C. Jaipur
D. Bikaner
E

(1) A,B,CandD
(2) B,C,Dand E
(3) A,B,DandE
4 A,B,C,DandE

Chappan plains are formed by
river.

(1) Banganga
(2) Chambal
(3) Sukri
(4) Mahi

Vindhyan searpland is a part of
(1) Bangad region

(2) Aravalli region

(3) Thar region

(4) Hadoti region
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14.

15;

16.

17.
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fEs wermpfy frafafea 3§ @ fra @ a
qafed g ?

(1) ==

2) TR

(3) wid

(4)

fr=fefea # & voeam =1 39 @1 fren
f4-31T TeEg S A R 2 2

(1) 3R

(2) TSEHE

3) &

(4) ST

TSy H 3fid kg § g areh
YT TehaTd 1y 991 haeTdt &
(1) ST A

(2) T

(3) ™ 9§t

CREESEL]

frafafeas & @ =8 & toem §
T A€ B 2

(1) ==&

(2) hiaeft

(3) Higrt

(4) reft

A 3R Smew qfeat
g AT § 7
(1) wral

(2) STeRH

(3) =™

(4) W&

T H

wn

13.

14.

15.

16.

17.

Ravine topography is related to which
of the following river ?

(1) Chambal
(2) Ghaggar
(3) Mahi
(4) Luni

Which one of the following district in
Rajasthan is situated in very humid
climate region ?

(1) Ajmer
(2) Rajasamand
(3) Dausa
(4) Baran

The Mediterranean cyclonic rainfall
occurring during winter season in
Rajasthan is known as —

(1) North-East Monsoons
(2) Mawat

(3) Mango Shower

(4) Khejri Shower

Which of the following is an inland
river of Rajasthan ?

(1) Banas
(2) Kantli
(3) Kothari
(4) Kali

Som and Jakham rivers are tributaries
of river.

(1) Mabhi
(2) Sabarmati
(3) Banas
(4) Parwan



18.

19.

20.

21.

22,

frafafed 3 @ wia i Toeyh § wevfle
AR ? ' ’
(1) wFaHg

(2) TR

(3) TSTEHg

(4) Tosren

o 59 fawm i semafe ol
2019-20 % 17ER 98 fren fed o7 &
R (%) Haifues 8, 98 8

(1) ST

(2) S

(3) SiHaTeT

(4) PRI

TN HUTHR aTelt ger w1 Tl /fafine
3TRIAA BT &

(1) 0.20-0.50 m*Mg™!

(2) 0.55-0.65 m*Mg"!

(3) 0.70 — 0.90 m’Mg™!

(4) 0.95-1.10 m*Mg™!

frafafaa @ @ 9 ¥ @i wa=aia
=g “Ihee” o ygE ®9 Y I I 7
(1) HeSTIR Te ATSEhT

(2) TTSehT Ue FANIEE

(3) heHTse Td SAMISE

(4) FRES TF FAGE

Yfafrne Wi %1 serew fre 8 @
HEAAR ?

(1) wrgdifees

(2) CTRATITEH

(3) WHITEL

(4) TS

o

ot
o

19,

20.

21.

22,

Which of the following is a salty water
lake in Rajasthan ?

(1) Jaisamand

(2) Lunkaransar
(3) Rajsamand
(4) Pichola

As per the Administrative Report
2019-20 of Department of Forest
Rajasthan, the district having second
highest forest area (in %) is

(1) Pratapgarh
(2) Baran
(3) Banswara:

(4) Dungarpur

Specific volume of fine textured soil is
(1) 0.20-0.50 m*Mg™!
(2) 0.55-0.65 m*Mg™!
(3) 0.70-0.90 m*Mg™!
(4) 0.95—-1.10 m*Mg™!

Which of the following minerals are
dominant in ‘Schist’ a metamorphic
rock ?

(1) Feldspar and Mica
(2) Mica and Chlorite
(3) Calcite and Dolomite
(4) Quartz and Chlorite

Which is the example of Tectosilicate
mineral ?

(1) Pyroxenes
(2) Tourmaline
(3) Biotite
(4) Quartz
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24.
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26.

27.

02

fore a7 R § et Wiger SRTge U
Sick i

(1) TeRIRE HER

2) Tl TR

(3) 3ATfereeh HER

(4) IRRIfeTP T&R

it 3178, wE. yorredt # wifier @
(1) T
(2) GiFaR
(3) TR
(4) g et

FHiee S oo € a3 % forg fope
HIeTs & Wife solaers i AEvgehdl
TR ?

(1) 207

(2) 257

(3) 307

(4) 3579

vefem % e fope s <6t T 3ug
B2 ?

(1) feeehtmean

(2) TS T

(3) Toreemm T

(4) TATRES T

TUTeTSE Sl HIWAT (Higd I H) gt 8
(1 3
2 S
Q) 7
“ 9

it} skt Teiaibeonat Teusninioms e et i T ST LSS SR TIPS TR % SR T et

24.

25,

26.

27.

Yellow mottles of Jarosite found in
which soil horizon ?

(1) Sulphuric Horizon
(2) Agric Horizon
(3) Oxic Horizon

(4) Argillic Horizon

G.L.S. system consist of
(1) Hardware

(2) Software

(3) Humanware

(4) All of these

Thickness of Platinum Electrode
required for Oxygen diffusion rate
determination

(1) 20 gauge
(2) 25 gauge
(3) 30 gauge
(4) 35 gauge

Which type of consistency is optimum
for puddling ?

(1) Sticky consistency
(2) Frible consistency
(3) Viscous consistency

(4) Plastic consistency

Hardness of apatite is (Moh’s scale)
(1) 3
(2) 5
3) 7
4 9



28,

29.

30.

31.

Hifeam & ane Ffeaam i gt
- graan/wfes B &

(1) >23
Q) >43
(3) >63
(4) >83

e ot <hl THER TTEHT T SAT8 R
gaTg ?

(1) 2—-5mm

(2) 6—7mm

(3) 8-=9mm

(4) > 10 mm

= [ 9 gt 11 6t a9 3T 1 I H
¥ e -
gEt-1 get-11
(=) (SrricHeh YfErehn)
A. S i. TS
B. Ca ii.  1Sred T
C. Mo iii. TSITEH I
D. B iv. srfafeaa
S :
A B C D
(N i i i 1v
2) iv 1 i i
3) i il iv i

4) 1 v il

el 4 iR < e = g |
[E:ERCIEI i

(1) e 3R

(2) . et

(3) . arimeA

4) 3. 7=

e i g i R 8 44 T ] T RIS T . i e § s £ LA P

28.

29,

30.

31.

Flocculating power of Calcium in
relation to Sodium is

(1) >23
(2) >43
(3) >63
(4) >83.

What is the diameter of medium class
granular structure ?

(1) 2-5mm
(2) 6—7mm
3) 8—9mm

(4) >10mm

Match the List-I with List-II and select
the correct answer by using codes given
below :

List-1 List — II
(Elements) (Functional Role)
A. S i.  Structural

Components

B. Ca ii. Redox reagent

C. Mo iii. Enzyme activators

D. B iv. Uncertain functions
Codes :

A B C D

(1) i i i v
2) iv i i i
3) i il iv il

4) i iv il il

Who discovered the “essentiality of
iron” in plants ?

(1) Sachs and Knop
(2) C. Sprengel

(3) K. Warington
(4) E.Gris

02



32.

33.

34.

35.

36.

02

S W T T[T H IS G B
TGS ?
(1) Fe
(2) Cu
(3) Zn
(4) Mo

Te1 1 v fafme fre % @y e
(1) q& 9T, w7 & T

(2) T f.wE. T F wy

(3) Ha1H sk H* Y amr e % |1
(4) TEaf

HEE TGN % T Ter # et fareta s
Hgleadm R g ?

(1) <0.3 ppm

(2) <0.5 ppm

(3) <0.7 ppm

(4) <0.9 ppm

Yehiairarse 6 garEe fifme e
fra Bt @ 2

(1) 2-4meq| 100g

(2) 5-7meq|100g
(3) 8—-10meq|100g
(4) > 10meq| 100g

WA A S-S HeT o1 et Shet 2
(1) 5.54 Mha

(2) 6.74 Mha

(3) - 8.84 Mha

(4) 10.34 Mha

32.

33.

34.

3s.

Which nutrient enhances the fertility of
male flowers ?

(1) Fe
(2) Cu
(3) Zn
(4) Mo

Cation exchange capacity of soils
increase with"

(1) Increase the soil pH
(2) Decrease the soil pH
(3) Decrease activity of H*
4) Al

What is the safe limit of water soluble
boron in soil for crop growth ?

(1) <0.3 ppm
(2) <0.5ppm
(3) <0.7 ppm
(4) <0.9 ppm

What is the Cation exchange capacity
of sesquioxides ?

(1) 2-4meq| 100g
(2) 5-7meq|100g
(3) 8-10meq| 100g
(4) > 10 meq| 100g

Total area of salt-affected soils in India is
(1) 5.54 Mha

(2) 6.74 Mha

(3) 8.84 Mha

(4) 10.34 Mha
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40.

o S S ¥ UTg §9 S W,
FHEAT B

(1) TATHRSA T

(2) TTeHIBRA ad

(3) HigtwrEa o

(4) TCHEHTEH T

3TTE. 3TR.TH. - 1 € 1 HheTaTqae J&vqvl
e e e

(1) femmsy, 1995

(2) 37, 1997

(3) 4, 1994

(4) TR, 1998

T B & 1 fy ST Al A T
¥ fore we@ st ey el Sroft i
R 7

(1) Hiteh

(2) F@

(3) avft

(4) T

& uTiar & ey § P A g s w s

qEg ?

(1) & T STetey et o) Sud HE
1 U2 |

(2) & urhar Iuetey & 1 Freredt @
1 I 2 |

(3) &= uritar Hfee s i Fad dm

. IR |

(4) &= urian S s Y Frercd @
ST R |

E R p——— R L Sl ]

-
Qo

37.

38.

i 39,

40.

Elements readily form metallic bonds
are known as

(1) Lithophile elements
(2) Chalcophile elements
(3) Siderophile elements

(4) Atmosphile elements

IRS-1C launched successfully on
(1) December, 1995

(2) August, 1997

(3) June, 1994

(4) December, 1998

Soil taxonomic category which is most
useful for making land use plans of a
small area

(1) Family

(2) Soil Order
(3) Series

(4) Great Group

Which of the following statement is
true in respect to field capacity ?

(1) Field capacity signifies the upper
limit of available water.

(2) Field capacity signifies the lower
limit of available water.

(3) Field capacity signifies the upper
limit of capillary water.

(4) Field capacity signifies the lower
limit of capillary water.
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42,

43.
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45.

02

fr= o @ form R St ga
179, 8.3 7 & Gehdll & ?

(1) CO, %1 I= 3T T

(2) i wites 3w = fmfo
(3) CaCO, 1 STeita TeT 1 HH ST
(4) =g aft

S T G 3 e, I T &R A
GENIC R

(1) wicas gfae

(2) Wi e

3) EREReRARE whre

4) gim

faddsRwmsmadie ?

(1) STeTHEET TR 741 % pH 1 SgTam & |

(2) STEHTA I DR Y ge R |

(3) e fafre wreteha = s ® |

4) Gfmrmtwﬁwﬁqaﬁw
AR |

SATedtST ferator gt o1 shif=ies a fopa
g1 g forass e iyl 6t s H sean
6 AT 2 ?

(1) 20x 108 gem min™!

(2) 20x107° g em™ min™!

(3) 21 x 1078 gem™ min™!

(4) 21x107 gcem™ min™!

|
l
F
T T @IS 61 I8 7 Tl Brelt i
i |
l
l
|
I

(1) 1.25x 107 mol m2
(2) 1.85x 107% mol m2
(3) 2.25x 107 mol m2
(4) 5.25 x 107 mol m™2

11

41.

42.

43.

44.

45.

The pH value of calcareous soil may be
high as 83 due to which of the
following ?

(1) High partial pressure of C02
(2)

(3)
(4)
Which humic fraction is soluble in
water, acid and alkali ?

(1) Fulvic acid

(2) Humic acid

(3) Hymatomelanic acid

(4) Humin

Formation of  undissociated
carbonic acid

Reduced hydrolysis of CaCO
All of these

Which of the following statement is
true ?

(1) Submergence increase the pH of
alkali soil.

(2) Submergence increase the redox
potential.

(3) Submergence increase the specific
conductance.

(4) Submergence decrease the
availability of native phosphorous
in the soil.

What is the critical value of oxygen
diffusion rate below which the growth
of plant roots ceases ?

(1) 20x 108 gem™2 min™!
(2) 20x107%gcem™ min™!
(3) 21x10°8gcm™? min™!
(4) 21 %107 gecm™ min™!

Surface charge density of smectite clay
mineral is

(1) 1.25 x 107 mol m™2
(2) 1.85x 107 mol m—2
(3) 2.25x 107 mol m™
(4) 5.25 x 107% mol m™



46.

47.

48.

49.

- Seie ge1 H IHE I G g B

(1) THwTEE
(2) amipeER
(3) HAATEE
(4) TMEE

o=t o & @9 @1 ST 917 T 3G
8

-
=

C. Gl?ﬁﬁ‘ﬂ_ﬂ'r

d. wefiE qar

fre g i # @ wE SRR
(1) awa@d

(2) aT@b

(3) buad

(4) cwEd

Ryferrr g=aa & AHifhed FH % fog
= § ¥ frg wedtes 1 ITA TR S
27
(1)
(2)
(3)
4)

v = 0 T

fope ey Ay famew & offera afites dmom™
158<22°CEaTe ?

(1) Hfeh

(2) uftieh

(3) shiEh

(4) TRTAS

46.

47.

48.

r——— ——— ————— AR AT RS ) ————. LA T ———

12

Which clay mineral is dominant in
alluvial soils ?

(1) Smectite
(2) Vermiculite
(3) Kaolinite
(4) Illite

Which of the following combination is
an example of zonal soil ?

a. Sieronzem soil
b. Desert soil

¢. Alluvial soil

d. Saline soil

Select the correct answer using the
codes given below :

(1) aandd
(2) aandb
(3) bandd
(4) candd

Which of the following symbol is used
to designate accumulation of silica ?

I p
(2 q
@) r
4) s

In which soil temperature regime mean
annual temperature is 15 to <22 °C ?

(1) Mesic

(2) Thermic

(3) Cryic

(4) Hyperthermic

02



50.

5L

52.

53.

54.

wnﬁm%ﬁéﬁﬁaﬂqm%ﬁm%ﬁ%?

(1) ferega ademr 1 39 g /awewEE

CIRIECIC AT g -
(2) ferarsda mEsw § 1 ;50000
YT AT %1 3@ A R |

(3) s Foega wdww w1 3w &
T T H B R |

(4) d ferasde 93 o sraced 6

 9RERAT 10,000 ha # 2 Breft 2 |

w0 faar A fowm wdew § &
e % ofig e g Bt 2 2

(1) 50m

2) 100m

(3) 250 m

(4) 500m

woedifem Y fafie worfe &t % H
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53.

54.

Which statement is true in relation to

soil survey ?

(1) Detailed survey is used for
- village/watershed planning.

1 : 50000 base map is used for

Reconnaissance survey.

Semi-detailed survey is used for

regional planning.

Frequency of observation in rapid

reconnaissance survey is 2 in
10,000 ha.

(2)
)
4)

What is the distance between field
observations in low intensity detailed
survey ?

(1) 50m

.(2) 100 m
"(3) 250m

(4) 500 m

Specific species of Azospirillum which
helps to fix nitrogen in wheat crop :

(1) A. lipoferum
(2) A. oryzae

(3) A. brasilence
(4) A. candense

Nitrification of I mole of NH,, produces
how many hydrogen mole ?

(1) 1 mole

(2) 2mole

(3) 3 mole

(4) 4 mole

Minamata "disease is caused due to
toxicity of which element ?

(1) As
(2) Cd
(3) Pb
4) Hg
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N, O fra <6 Teiteret afif & (v) Bt 8

(1) 198
(2) 298
(3) 400
(4) 550
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(3) 6 A I
(4) T EHE AR

i T S W i A TR T—— A—— T

[
I

35,
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37

U
®

(D

The global warming potential (v) of
N,O gas is

(1) 198

) 298
(3) 400
(4) 550

Replacement of interlayer potassium in
micas by protons or hydronium ions to
produce Illite is the example of the
process

(1) Oxidation
(2) Reduction
(3) Hydration
(4) Hydrolysis

Which of the following is the correct
weathering sequence of different
minerals ?

Biotite > Potash feldspar >
Muscovite > Quartz

Biotite > Muscovite > Potash
feldspar > Quartz

@

Quartz > Muscovite > Potash
feldspar > Biotite

3)

(4)

Quartz > Biotite > Muscovite >
Potash feldspar

At pH above 6 (pH > 6), soil colloidal
complex possesses

(1) A net positive charge
(2) A net negative charge
(3) Zero net charge

-(4) None of these

02
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The name of Scientist who divided
factors of soil formation into “active” -
and “passive” is

(1) Jenny, H
(2) Dokuchaev, V
(3) Hilgard, E.W.
(4) Joffe, J.S.

Alluvial soils are an example of
following order of the genetic system of
soil classification :

(1) Zonal
(2) Azonal
(3) Intra-zonal
(4) Low land

The process of removal of iron and
aluminium as complexes with humus,
from the upper part of soil and its
deposition at same depth is known as

(1) Laterization

(2) Clay migration or lessivage
(3) Podzolization

(4) Gleization

An epipedon having sandy horizon, 100 -
cm or more thick over an argillic
horizon is known as

(1) Grossarenic Epipedon
(2) Folistic Epipedon
(3) Plaggen Epipedon
(4) Melonic Epipedon
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64.

66.

In general, the upper and lower limits of

-~ soil moisture control section (SMCS) in

loamy soils are

(1) 20and 60 cm
(2) 10and 30 cm
(3) 30and 90 cm
(4) 40and 100 cm

India is dominantly represented by
which of the following soil moisture
regime ?

(1) Udic
(2) Ustic
(3) Aridic
(4) Torric

Which categories of soil taxonomy are
most useful for making land use
planning ?

(1) Suborder and Great Group
(2) Great Group and Sub Group
(3) Family and Series

(4) Suborders and Sub Group

Desert sandy soils of India qualify for
the following soil orders :

(1) Vertisols and Aridisols
(2) Ultisols and Aridisols
(3) Oxisols and Aridisols
(4) Entisols and Aridisols

02
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68.

69.

Intense weathering of soil shifts its zero

point of charge (ZPC) towards
(1) Lower pH

(2) Higher pH

(3) Neutral pH

(4) First low pH and then neutral pH

Minerals like Mangenese oxide impart

colours to soil.
(1) Brown
(2) Grey
(3) Yellow
(4) Black

Lower albedo of soil results in
(1) High solar energy absorption by
soil.
(2) Low solar energy absorption by
soil.

3)
Q)

High light penetration in soil.
Low light penetration in soil.

“Chalka” soil of Telangana is known

for

(1) Productivity

(2) Hardness

(3) High organic matter content

(4) Deepness
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Mineral horizon in which the main
feature is loss of silicate clay, iron,
aluminium or some combinations of
these, leaving a concentration of sand
and silt particles are designated as

(1) A —Horizon
(2) B —Horizon
(3) E-Horizon
(4) R-—Layers

Which of the following statement is
correct ?

(1) The higher the electrolyte
concentration, the larger the
thickness of diffuse double layer.

(2) The higher the valance of the
counter ions, the larger the
thickness of the diffuse double
layer.

(3) An increase in dielectric constant
of a medium increases the
thickness of diffuse double layer.

(4) An increase in temperature
increases the thickness of diffuse
double layer.

The Goldschmidt’s Laws explain

(1) Structural  characteristics  of
Phyllosilicates

(2) Chemistry of colloidal solution

(3) Sorption properties of soil colloids

(4) Electrokinetic phenomenon in soil
colloids

If any soil solution contains
108 gmy/litre OH~, then calculate the
pH value of these soil solution.

(1) 8.0
@) 6.0
3) 6.5
4) 7.0

02
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(1) Si04 >P0O; >>S027>NO;
) NO§>SO§*>POi*>Si03_

(3) S04 >S0; >>P0O. >NO;
(4) NO;>Si0; >PO, >>802"
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(1) CaCo;,
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(4) Teadi

19

75.

| 76.

77.

78.

79.

In anion exchange; the preference of
different anions for the positive sites
has been found to follow the order :

(1) Si03 >P0O; >>S02 >NO;
(2) NO;>5027>P0  >si0!
(3) S0 >S0; >>P0O. >NO;
(4) NO;>Si0, " >PO; >>502"

Lime potential of a soil is dependent on

(1) Soil-water ratio

(2) Salt content
(3) Electrolyte concentration
(4) None of these

By increasing salt concentration in
alkaline soil, the pH value is

(1) Decreased
(2) Increased
(3) First decreased then increased
(4) No change

Which of the following is not referred
as an agricultural lime ?

(1) CaCo,
(2) MgCO,

(3) CaO
(4) CaCl,

Which organic fraction is insoluble in
both acid and alkali ?

(1) Humic

(2) Humin
(3) Fulvic
(4) All of these
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Redox potential of oxidized soils is
(1) +400 to+ 700 mV
(2) +200to+250 mV
(3) + 100 to +400 mV
(4) —100to—300 mV

pF value at field capacity of soil is
(1) 4.0

(2) 3.5

(3) 2.5

4) 4.5

Which of the following mineral is the
source of Mg ?

(1) Magnetite

(2) Dolomite

(3) Micas

(4) Orthoclase

Ammonium Acetate method of K
determination is given by

(1) Keeney and Bremner

(2) Williams and Steinburg

(3) Hanway and Heilel

(4) Bray and Kurtz

The K,O content in Illite varied
between

(1) 6-10%

2) 2-5%

(3) 12-15%

4) 15-20%

Which of the following does not
contribute to an increase in soil
available P after submergence of soil ?

(1) Hydrolysis of Fe and Al phosphate

(2) Dissolution of occluded P

(3) Increased  mineralization  of
organic P in acid soil

(4) Decreased diffusion of P

02
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Which of the following shows
endotrophic mycorrhiza ?

(1) Boletus

(2) Glomus

(3) Amanita

(4) Rhizoctonia

The optimum temperature range for
psychrophilic bacteria

(1) Lessthan 5 °C

(2) Less than 20 °C

(3) Lessthan 35 °C

(4) Less than 45 °C

The elements which constitute major
part of dry weight of a plant are
obtained from

(1) Soil

(2) Water

(3) Decomposition of organic matter
4) Air

Fertilizer which first manufactured in
India is

(1) DAP

(2) DSP

(3) SSP

(4) Urea

Application of Rock phosphate or its
products to soil implies the addition of
significant amount of following :

(1) Nickel and Chromium

(2) Mercury and Selenium

(3) Cadmium and Lead

(4) Arsenic and Nickel

Which of the following is considered to
be the main factor for water pollution ?

(1) Pesticides
(2) Herbicides
(3) Detergent
(4) Industrial waste
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The downward movement of water
through soil is called

(1) Leaching
(2) Percolation
(3) Infiltration
(4) Run-off

Paddy fields are considered to cause
pollution because of the release of
following gas :

(1) Carbon dioxide
(2) Carbon monoxide
(3) Methane

(4) Nitric oxide

Eutrophication results in reduction of
following in water :

(1) Dissolved carbon dioxide
(2) Dissolved salts

(3) Dissolved nitrate

(4) Dissolved oxygen

Acid rain is caused by
(1) SO, and NO,

(2) SO,and CO

(3) SO, and NH,

(4) NH;and CO

Specific heat of apatite mineral is
(1) 0.153 cal/g/°C
(2) 0.163 cal/g/°C
(3) 0.173 cal/g/°C
(4) 0.183 cal/g/°C

The toxicity of following element
caused Itai-Itai disease in Japan :

(1) Nickel
(2) Cadmium
(3) Lead
(4) Mercury

02
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Cat clays are generally found in which
state of India ?

(1) Kerala

(2) Karnataka
(3) Tamil Nadu
(4) Assam

The sequence of colour variables in
munsell soil colour chart is

(1) Chroma, Value, Hue
(2) Chroma, Hue, Value
(3) Value, Hue, Chroma
(4) Hue, Value, Chroma

Root nodules of some non-leguminous
tress which fixes nitrogen posses

(1) Frankia

(2) Rhizobium
(3) Azotobactor
(4) Thiobacillus

Browning of cauliflower is a deficiency
symptom of which nutrient ?

(1) Mo

(2) B

(3) Cu,

(4) Zn

Potassium  sulphate  fertilizer is

manufactured by the following method :

(1) Reaction of sylvite with
concentrate H,SO,

(2) Reaction of langbeinite with

concentrate solution of KC/

Reaction of KC/ with concentrated
H,S0,

Reaction of KCI/ with Na,SO,
solution

©)
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103.

! 105.

106.

107.

The latent heat on vaporization of water
at boiling point is

(1) 437 cal/gm

(2) 537 cal/gm

(3) 637 cal/gm

(4) 737 cal/gm

Field plot experiment given by
(1) J.W. Leather

(2) 1.B. Boussigault

(3) J.V. Liebig

(4) D. Hillel

What is the critical relative humidity of
urea ?
(1) 52
(2) 72
(3) 82
4) 92

Approximate percent nitrogen
available to crop after the first time
application of FYM in soil is

(1) 10%
(2) 20%
(3) 30%
(4) 40%

Which of following method is used to
determine phosphorus in alkaline soil ?
(1) Bray and Kurtz

(2) Olsenetal

(3) Mehlich No. 1

(4) AB-DTPA

. Which of the following reagent is used

to determine the available molybdenum
in soil sample ?

(1) Morgan — Wolf reagent

(2) Grigg or Tamn reagent

(3) DTAP reagent

(4) AB —DTPA reagent

02
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1 109. When copper salt introduced to flame,

110.

111.

which color light usually seen ?
(1) Yellow '
(2) Orange

(3) Green

(4) Red

Soil consistency is the indicator of
(1) Frability

- (2) Plasticity & Stickyness

(3) Cohesion and Adhesion
(4) All

Match List-I with List-II and select the
correct answer by using the codes given
below the list :

List -1 List — 11
(Scientist) (Work)
A. Wallace and i. Critical test
Wallace value
approach
B. Muharetal ii. Law of
maximum
C. Beaufilseral iii. Target yield
concept
D. Ramammorthy iv. DRIS
etal approach
Codes :
A B C D
(1 i i iv i
(2) il i v il
3) i i iy
4 i i i iv

If irrigation water containg Ca2*, Mg2*
and Nal*, 2.0, 1.0 and 1.5 me/L
respectively, then soluble sodium
percentage of irrigation water will be

(1) 20.15
(2) 33.33
(3) 50.00
(4) 67.10
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115.

116.

117.
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(1) 3™

(2) mE

(3) frmer

(4) dféeeE

I T TARH AT ITITT H
75T Hoheleh & 7

(1) ¥R

(2) NS

() IR

4) feargrfia

frm % @ o9 A o FQERIE W
edTied &g SAford Hid @ ?

S

P

N

. K

e I R @ wE % g g
(1) SHaab

2) b3Re

(3) ae ¢

(4) c3md

o TP

iy 3 foru R et  Feiirgs s <6t
gifera /o 8

(1) <2ppm

(2) <4ppm

(3) <6 ppm

(4) <8ppm

Ffifepeise o Wi Y Ta8 H1 AE
(1) 0.0 -

2) 1.0

(3) 02-0.5

(4) 0.6-0.9

! 113. Which of the following is the phosphate

S———— PR AR R S e
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114.

115.

116.

117.

Solubilizer micro-organism ?
(1) VAM

(2) Glomus

(3) Gigaspora

(4) Bacillus

Which soil enzyme is the good
indicator of the oxidative metabolism ?

(1) Celluase

(2) Amylase

(3) Urease

(4) Dehydrogenases

Which of the following nutrients
stimulates the eutrophication ?

a. S

b. P
c. N
d K

Choose correct answer using codes
given below :

(1) Onlyb
(2) bandc
(3) onlyc

(4) candd

Safe limit of chloride ion in irrigation
water for growth

(1) <2Zppm

(2) <4ppm

(3) <6ppm

(4) <8ppm

Layer charge of vermiculite clay
minerals is

(1) 0.0

2) 1.0

(3) 02-05

(4) 0.6-0.9

02
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(1) Zn

(2) Cu

(3) Mn

4) B

fova o 6t Fft @ A9 A B oot o
B R ?
(1) Mn
(2) Cu
(3) Zn
(4) Mo
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2) @

(3)

(4) T
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(3) A
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(1) i dew

(2) Efes Hwm

(3) Tfes dww

(4) 3T F&R

118.

119.

120.

121.

Hens and chicks disease of grapes
occur due to the deficiency of which
nutrient ?

(1) Zn

(2) Cu

(3) Mn

4 B

Little leaf disease in apple occurs due to
the deficiency of which element ?

(1) Mn
2) Cu
(3) Zn
(4) Mo

Which of the following minerals is
readily dissolved in water ?

(1) Halite
(2) Lime
(3) Quartz
(4) Albite

Glacial hill is found mostly in which of
the following as irregular deposited ?

(1) Lacustrine
(2) Alluvial
(3) Moraines

(4) Colluvial

- Asilicate clay-enriched horizon formed

by illumination in clay is called
(1) Argillic Horizon

- (2) Nitric Horizon

(3) Spodic Horizon
(4) Agric Horizon
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127.
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123.

124.

125.

126.

127.

Titaniferous magnetite mineral is found
in which soil ?

(1) Red soils
(2) Black soils
(3) Desert soils

(4) Laterite soils

Map on the scale of 1 :50,000 found in
which of the following kind of survey ?

(1) Rapid Reconnaissance
(2) Detailed

(3) Reconnaissance

(4) Semi-detailed

Specific surface area of Kaolinite clay
minerals is

(1) 120170 (m%/g)
(2) 37-45(m%g)

(3) 780 —900 (m%/g)
(4) 100 - 120 (m%/g)

Equation qgi = - D %5 is used in which
of the following law ?

(1) Darcy’s law

(2) Fick’s law

(3) Poiseuille’s law

(4) Stock’s law

A falling rain drop is capable of
generating a force equal to almost 14
times of its weight is called

(1) Sheet erosion
(2) Splash erosion
(3) Rill erosion

(4) Gully erosion

02
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129.

130.

131.

132.

133.
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(1) 1:1 239 71 5 @i

(2) 2:1 239 & F Wi

(3) 2:1:1 39 %1 = @l

(4) 2:2 2739 %1 o=t @i

ST TE 7167 H STRRA 61 Sivwre T Bt f
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2) 5.0% l
3) 3.5% f
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128

129.

130.

131.

132.
3

133.

. CaAé’2 Sizos is a formula of

(1) Albite
(2) Diopsite
(3) Anorthite
(4) Calcite

Soil erodibility factor is indicated by
the symbal

(1) R
(2) K
3) L
4) S

Cation  exchange capacity  of

vermiculite is

(1) 50-80 mol (P+)/kg soil
(2) 100 - 150 mol (P+)/kg soil
(3) 150 -200 mol (P+)/kg soil
(4) 250 -300 mol (P+)/kg soil

Halloysite clay minerals are sub-group
of which of the following ?

(1) 1:1 type clay mineral
(2) 2:1type clay mineral
(3) 2:1:1 type clay mineral
(4) 2:2 type clay mineral

Iron content found in Earth’s crust
composition is

(1) 8.1%

2) 5.0%

3) 3.5%

4) 9.0%

ZPC (Zero point of charge) of silicic
acid is

(1) 85

(2) 6.0

(3) 2.0

(4) 9.0
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134.

135.

136.

137.

The soil formed in regions, where time
has been a limiting factor to produce
fully developed horizons is called

(1) Zonal soils

(2) Intra-Zonal soils

(3) Azonal soils

(4) Zonal and Intra-Zonal soil

The acidity developed due to
concentration of  hydrogen and
aluminium ions in the soil solution is
known as

(1) Passive acidity

(2) Reserve acidity

(3) Active acidity

(4) Exchangeable acidity

Permissible limit of boron in irrigation
water is

(1) <2.0mgL™"

(2) 2-2.5mgL™!

(3) 2.5-3.0mg L1

(4) >3.0mg L

Essentiality of element Ni was discovered
by which of the following scientist ?

(1) P.H.Brown
(2) E.Gris

(3) J.S. McHargue
(4) C. Sprengel

. The term of interveinal chlorosis and

streaked or patchey effect of older
leaves is the deficiency symptoms of
which of the following element ?

(1) Magnesium
(2) Nitrogen
(3) Calcium
(4) Chloride

02
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(4) NaHCO,
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139.

140.

141.

142,

143.

144.

Formula of Chilesaltpeter is
(1) NaNO,

(2) NaCl,
(3) NaSO,
(4) NaHCO,

Basicity value of monocalcium
phosphate [Ca(H2P04')2] is

(1) 0.5

2y L35

3) 1.0

4) 2.0

Potassium fixation is found in which
type of dominant clay minerals ?

(1) Kaolinite

(2) Vermiculite
(3) Chlorite

(4) Montmorillonite

KQO content in MOP fertilizer is

(1) 60%
(2) 55%
(3) 43%
(4) 50%

CEC of sand soils (light colored) is
(1) 10-20 meg/100 g

(2) 3-5meq/100g

(3) 25-45meq/100 g

(4) 50-100 meq/100 g

The C:N:S ratio in most well drained
soil is

(1) 10:4:1

(2) 100:10:1

(3) 120:10:1.4

(4) 120:10:1
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145.

146.

147.

148.

149.

Zn content in  zinc
monohydrate fertilizer is

(1) 30%
() 35%
(3) 21%
4) 25%

sulphate -

Which element is important during
pollentube growth and essential for
seed development ?

(1) Mg

2 B

(3) Mo

(4) Ni

The elements with a similar atomic
number but with different atomic mass
is known as

(1) Isobar

(2) Isotopes

(3) Isotons

(4) None of these

The law of mass action was first
reported by

(1) Thomson

(2) Davies

(3) Garrels and Christ

(4) Guldberg and Waage

The negative charge on the clay surface
and the swarm of positive counterions
ions are called

(1) Helmholtz double layer

(2) Goug Champman double layer
(3) Electric double layer

(4) None of these

02
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150. On which occasion the marriage

151.

152.

153.

procession of Ilogi is taken out in
Barmer ?

(1) Teej
(2) Holi
(3) Ganguar
(4) Dashahra

Which among the following is not
composed by Suryamall Mishran ?

(1) Lalit Lalam
(2) Veer Satsai
(3) Ramranjot
(4) Chandomayukh

Which of the following temples is
related to Gupta period ?

(1) Sachchiya Mata temple, Osian
(2) Harshat Mata temple, Abhaneri
(3) Someshwar temple, Kiradu

(4) Charchoma temple, Kota

Match the following :
Music Gharana Artist

A. Dagar Gharana i. Motiram
Jyotiram

B. Jaipur Gharana ii. Baharam
Khan

C. Mewati Gharana iii. Manrang

D. Atrauli Gharana iv. Dullu Khan

A B C D
CORE T
@ i iv i i
G) i i iv i

@ v i H i
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154.

155.

156.

! 157.

158.

In which fort the famous cannon called
Kilkila is located ?

(1) Junagarh
(2) Sonar

(3) Mehrangarh
(4)' Bhatner

Which of the following sites provides
the architectural remains of Mauryan
period ?

(1) Bairath
(2) Rangmahal
(3) Ahar

(4) Badopal

To which Folk deity, the replica of
clothes and clay horses, is dedicated ?

(1) Tejaji

(2) Devnarayanaji
(3) Gogaji

(4) Ramdevji

To whom the Jain temple of Ranakpur
is dedicated ?

(1) Neminath

(2) Mahavir Swami
(3) Adinath

(4) Shantinath

Which folk theatre form has Rai
Boodhia and Rai Mata as the main
characters ?

(1) Gavri

(2) Valar

(3) Rammat

(4) Turra Kalanagi
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Which musical instrument is
Manganiyars ?

(1) Jantar
(2) Bhapang
(3) Rawaz
(4) Kamaicha

used by

In which city, the Jaswant Exhibition is
organised ?

(1) Alwar

(2) Bharatpur
(3) Udaipur
(4) Dholpur

In which city the Dol fair is celebrated ?
(1) Baran

(2) Kota

(3) Bundi

(4) Jhalawar

Where is the head office of the
Rajasthan Oriental Research Institute
located ?

(1) Jaipur

(2) Udaipur
(3) Jodhpur
(4) Bikaner

On which part of Human Body the
Angotiya ornament is worn ?

(1) Neck
(2) Waist
(3) Nose
4) Ear
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l 164. Where is the Shilpgram situated 7

166.

168.

(1) Sirohi
(2) Udaipur
(3) Jaipur
(4) Sikar

. Which was not the part of “Rajasthan

Union” ?

(1) Jhalawar
(2) Bikaner
(3) Tonk

(4) Kishangarh

Who was not the prominent painter of
Marwar style of painting ?

(1) Amardas

(2) Kishandas

(3) Gangaram
(4) Kaluram

_ Which ornament is worn in the finger

by females in Rajasthan ?
(1) Halro

(2) Domna

(3) Nevri

(4) Tulsi

Where was “Desh Hiteshni Sabha”
founded ?

(1) Sirohi
(2) Ajmer
(3) Jodhpur
(4) Udaipur
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169.

170.

171.

172,

173.

Which fort is also known as “Koomat
fort” ? 3

(1) Bhatner
(2) Mandalgarh
(3) Siwana
(4) Achalgarh

Which folk ‘diety did not make direct
war for the protection of cows ?

(1) Ramdeviji
(2) Gogaji
(3) Tejaji
(4) Pabuji

Ganeshwar civilisation was
(1) Iron Age

(2) Copper Age

(3) Bronze Age

(4) Brass Age

Who was the well known portrait painter
of Jaipur of eighteenth century ?

(1) Sahib Ram .
(2) Ramiji Das
(3) Ram Gopal
(4) Hiranand

Which is the oldest dated temple in
Rajasthan ?

(1) Shila Devi Temple, Amer

(2) Sheetaleshwar Temple, Jhalrapatan
(3) Saas-Bahu Temple, Nagda

(4) Shreenathji Temple, Nathadwara
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175.

176.

The book ‘Radhagovind Sangeet-Saar’
was composed during the period of

which ruler ?

(1) Maharaja Pratap Singh
(2) Maharaja Man Singh

(3) Maharaja Madhav Singh
(4) Mirza Raja Jai Singh

Which of the following facts relating to
Laaldas is not true ?

(1) The text ‘Laaldas Ki Vani’ is

divided into two parts.
2)
3)
4

He was born in Mewat region.
He was married.

He died in 1688 A.D.

Original place of birth of Rajasthani
painting is :

(1) Marwar

(2) Amber

(3) Shekhawati

(4) Mewar

. Who was the writer of ‘Leeltance’,

‘Sabad’ and ‘Nirgranth’ ?
(1) Kanhaiyalal Sethia
(2) Chandra Singh Birkali
(3) Meghraj ‘Mukul’

(4) Revatadan ‘Kalpit’
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ﬁw%ﬁgﬁa@‘r—lqa‘qa"r—uﬁgﬁ%a
I e i fow T %2 F A vt 3w
EULE .

| E-1 ga”r-n
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178. Match and select the correct answer by

179.

180.

A B SivEal i wtgererue
| ST
B. franwerfeat i, JgemrwE !
| EICHT |
C. swHHIdgH  iii. fyamn |
(W) |
D. W ¥ gHa iv. Ewen |
% | |
A B C D |
(M i i i v |
) i v i |
G) i v i !

4 iv i i

using the codes given below :

(Folk Goddess) (Place)

A. Jwala Mata i. Banswara

B. Adhar Devi ii. Jobner

C. Chheenchh iii. Sariska National
Mata Park, Alwar

D. Narayani Mata iv. Abu

Code :
A B C D

(1) iv i i iii

2 i i i v
) i v iii
4) iii i v i

Where is the nine storied stepwell
located and who was its builder ?

(1) Abhaneri (Dausa), Chand Raja
(2) Neemrana (Alwar), Todarmal
(3) Bundi, Rani Nathawati

(4) Bhandarej (Dausa), Deep Singh

Match the following List-I & List-II
and select correct answer from the
codes given below :

List-I List-II
A. Chappan Hills i. Banswara &
- Dungarpur
B. Girwa Hills 1. Jaisalmer &
Barmer
C. Chappan Plains iii. Siwana
(Barmer)
D. Dune free Tract iv. Udaipur
Region

Codes :

A B P
(1) i i v
(2) il v i il
3) i iv il i
4) iv i il i
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